Division par Puissances de Dix (C)

Trouvez chaque quotient.

3,48 +~ 100 = 6,08 +- 0,01 =
551+1= 8,8259 + 100 =
2,272 +100 = 3,3962 + 1000 =
3,0872 - 10 = 52+1=
32+1= 8+0,001=

3,66 -0,1= 9,3575 + 0,001 =
5,4095 = 100 = 3,2336 +1 000 =
8,781 + 0,01 = 8,578 + 1000 =
4+1= 7,595 + 0,01 =
7,7 +0,1= 3,3356 - 10 =
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Division par Puissances de Dix (C) Solutions

Trouvez chaque quotient.

3,48 +100=10,0348 6,08 +- 0,01 =608
551+1=551 8,8259 - 100 = 0,088259
2,272 +100=0,02272 3,3962 +~ 1000 =0,0033962
3,0872 +-10=0,30872 52+1=5,2

32+1=3,2 8+ 0,001 =8000

3,66 ~0,1=236,6 9,3575 + 0,001 =9 357,5
5,4095 + 100 = 0,054095 3,2336 +1000=0,0032336
8,781 + 0,01 =878,1 8,578 -1 000 =0,008578
4+-1=4 7,595 + 0,01 =759,5
7,7+0,1=77 3,3356 +-10=0,33356
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